BT - BB (100 sl R
Ry 28 ) &
E5 RERS E fla | &5 RERLS IE f2 W)=t
(fi ) (BERR)
7 2 1 aap| YE"-R) 6(3" 1) 2
T;—-n %ﬂ 2 t 5 2
\ n 9: 13
Iz'.to 3450 2 /ﬂ2—2'9 i 6712—2'3 +2 2
: ‘ Fni-Znten+ X, X203 32 +n+9, 2| 3
ﬁ V3 2 n——=n"+n+ 2, Aen n“+n+9,
7 2 1
sin(x—%)=% sm(x—%)=% 3 __/> = =
E1M > ard] 2 :
A gé . %%n 3 Mo F o 3> 1o
(30) TPt 514 2Pt a4 2
t/ -2t t2 -3¢ 3 | E4F P —
. 4
£ F, 12V <1, 122 2 (20) FoprTer Sp st ?
= 0 ] -4, v 1-a, a 4
x< b, x2F x<3, x=9 1 AL, Y 8, 4 2
2 3 i v, T 9, 6 3
4/INeE 57 3 1 2
= 7 1
7 2 1 = a 2
17 p+I -2p+2 2 5 6 )
7 1 T 8 1
% (3= o2+ 0-47) % (P$-3u2+30—1) | 4 % 2 1
- 5 5 73:\: 86 1
0. 0. 1
E2MH H 3 3 s p
) <= — 2
(30) /+ﬁ 3+‘/§ 3 %5&5 o 6
i 2 4 30 ]
Y, 3 2 | QO
poes ] 3 S 25 1
-t VAa -2.40 1
b 7 1 =
- 2 - FIT 1.20 1
>
= 522 0.+7F 0.88 2
—+ X —61<+ 4 0.— 0.8 ]
- 74 -6 % 0.2 % 0.76 1
VL 12 2 0.//\ 0.84 1
(20) *nt-Hh¥Fn 6n% - 12n 2 e 4 )
749 12 2 GE) |1/, F2riRpE, E3M~ESsHEDIBENE2
= 3 2 MHER, &4 ZEEE,




